Algebra Quiz 2.3
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[image: image2.png](@ Matthews has a job where his daily pay P, in dollas, i given by the function P{h) = 15h, where h
represents the number of hours worked that day. Last weck, he worked 2 hours more on Tuesday than he did
on Wednesday. If he worked ¢ hours on Tuesday, which statements are true?

Select allthat apply.
(&) PXC) represents Matthew's pay, in dollars, on Tuesday.
(B) 15¢ represents Mattherw's pay, in dollars, on Tuesday.
(C) Plc ~2) represents Mathesvs pay, in dollars, on Wednesday.
(D) 15¢ - 2 represents Matthess pay, in dollars, on Wednesday.

(E) P(&) - Plc - 2) represents how much more Matthew’s pay was on Tuesday than on
‘Wednesday.




[image: image3.png](@ The first term in a sequence is 24. Each term in the sequence after th first term is equal to half the
previous term, plus 4.

‘Which of the following statements best describes the terms in the sequence as it progresses
(A) The terms get closer 10,
(B) The terms get closer o 12.
(C) The terms increase at  constant rate.

(D) The terms decrease at a constant rate.




[image: image4.png]4. The able below shows the average yearly balance in 2 savings account where interest is compounded
annually. No money is deposited or withdzawn aftr the initial amount s deposited
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Which type of function best models the given data?
(A) linear function with a negative rate of change
(B) linear function with a positive rate of change
(C) exponential decay function
(D) exponential growth function




[image: image5.png]5. The table below represents the function F.

‘The equation that represeats this function is
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[image: image6.png]6. The graphs of y = f(x) and y = &(x) are shown below.
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Which of the following describes points that are solutions for y = £(x)?

(A) Point A only
(B) Point B only.
(C) Point C only
(D) Points B and C only




[image: image7.png]7. Aballis thrown into the air from the edge of a 43-foot-high cliff so that it eventually lands on the.
‘ground. The graph below shows the
height, y, of the ball from the ground after x seconds.
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For which interval is the ball's height always decreasing?
(A)0=x<525

B)0<x<55
©25<x<55

Dyxz2




[image: image8.png]8. A company has developed 2 new video game console. After completing cost analysis and
demand forecasts, the company has detenmined that the profit function for the new console is £(g) = -250g% +
70,000g - 4,570,000 where gis the mumber of consoles sold. What s the domain of the profit function?

(&) al integers

(B) all rational numbers
(C)allimtegers greater than or equal 10 0

(D) all rational mumbers greater than or equal 00




9.
The graph shows a relationship between x and y.  On which of the following intervals is the graph increasing?  Select two that apply. 
A [image: image1.png]Jamie has a plan to save money for a trip. Today, she puts 5 pennies in a jar. Tomorrow, she will put
initial amount in plus another 5 pennies. Each day she will put 5 peanies more than she put nto the jar
the day before, as shown in the table.

Lex (d) represent the amount of peanies she puts into the jar on day d. What does £(10) = 55 mean?
o[1]2]3
5 [10]15]20
(&) Jamie will put 10 pennies in the jar on day 55.
(B) Jamie will put 55 pennies in the jar on day 10.

(C) Jamie will have 10 pennies in the jar on day 55.
(D) Jamie will have 55 pemnies in the jar on day 10.




0 < x < 1  
B 1 < x < 2  
C 2 < x < 3  
D 3 < x < 4  
E 4 < x < 5  
10.
The graph shows a relationship between x and y.  
[image: image9.jpg]


  
Which of the following statements about the graph are true?  Select two that apply. 

A  
There is a relative maximum at x = 1.    


B  
There is a relative minimum at x = 3.  
C There is a relative maximum at x = 4.  
D There is a relative maximum at x = 5.  
E There is a relative minimum at x = 6.  
F There is a relative minimum at x = 7.  
11.
Screw hooks are used to hang plants and other decorations from walls and ceilings.  The graph shows the total mass, in grams, of a can based on the number of screw hooks in the can.  
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Which of the following is the interpretation of the y–intercept of this graph? (A1.F.IF.B.4) 
A the mass of the can only  
B the mass of 1 screw hook  
C the mass of 10 screw hooks  
D the mass of the can and x screw hooks  
12.
The graph below shows the equations f(x) and g(x), where f(x) = –2x2 + 3, and g(x) = 1.  
 [image: image11.jpg]


  
Two students, Anne and James, are asked to determine the values for x that are solutions to equation f(x) = g(x).  Each student's claim is shown below.  Anne makes the claim that the solutions to the equation are x = –1 and x = 1.  James makes the claim that the solutions to the equation are x = –1.2, x = 1.2, and x = 3.  Which statement provides a correct analysis of the student's claims?  (A1.A.REI.D.6) 
A Anne's claim is correct because those are the two points at which the graph lines intersect.  
B Anne's claim is partially correct, because x = –1, x = 1 are solutions but x = 3 is also a solution. 
C James's claim is correct because those are the points at which f(x) crosses the x–axis on the 
  

graph.    

D  
James's claim is partially correct x = –1.2, x = 1.2 are solutions but x = 3 is not a solution.  
13. A sequence is defined recursively by the equation an=an−1+3, where a1=0. 
Which of the following defines this sequence in function notation? 
A  f(n)=3n  
B f(n)=n+3  
C f(n)=3(n−1)  
D f(n)=3(n+1) 
14. What is the 8th term of the arithmetic sequence below? (A1.F.IF.A.3) 
           19, 13, 7, 1, -5...  
A -11  
B -17   
C -23  
D -29  
15. Which of the following represents an arithmetic sequence?Select all that apply
A  
y = (¾)x  
B  
                                  [image: image12.png]


                                         
C
The cost to get into the Orange County Fair is $20 plus an additional $5 per ride.  
 
D  
                   [image: image13.png]123235 6THBaMm



 
16. Which scenario represents exponential growth?  (A1.F.LE.A.1) 
A.  A water tank is filled at a rate of 2 gallons/minute. 
B. A vine grows 6 inches every week. 
C. A species of fly doubles its population every month during the summer. 
D. A car increases its distance from a garage as it travels at a constant speed of 25 miles per hour. 
 17. Which of the following functions gives the number of shaded square, S(n), for 
figure n? (A1.F.BF.A.1a) 
[image: image14.jpg]Mackenzie creates the figures below using shaded and unshaded tiles.

Figure1 Figure2 Figure3  Figure 4




A S(n) = n +2  
B S(n) = 8 + 2(n-1)  
C S(n) = 8(2)(2)(2)(2)-1  
D S(n) = (n+2)(n+2)-n(n)  
18.
Jake wrote the function f(t) = –2 + 3t2 – 4t.  Complete the table to determine values of the function at various domains.   (A1.F.IF.A.2) 
	Domain 
	Value 

	f(-3) 
	 (a)

	f(-1) 
	 (b)

	f(0) 
	 (c)

	f(2) 
	 (d)


19.
What is the range of the function f(x)=x2+3 if the domain is {−3, 0, 3}? 
(A1.F.IF.A.1, A1.F.IF.A.2) 
A. {3, 12} 
B. {−6, 3,12} 
C. all real numbers 
D. all real numbers greater than or equal to 3 
20.
Which equations represent an exponential function.  Select all that apply 
	A. y=2x 
B. y= 3x−2 
C. y=3(5x)+10 
D. y=x 2+4x+2 
	E. y=3x 2 
F. y=2x 
G. x=y 2


21.
What is the value of a $550 investment after 3 years with an interest rate of 
4% compounded annually? (A1.F.LE.A.2) 
E. $618.68 
F. $1,716.00 
G. $1,509.20 
H. $616.00 
22.
Erika buys a television.  The value of the television after being owned different 
numbers of years is shown in the table below.  
	Number of Years Owned 
	Value of TV  

	0 
	$600.00 

	2 
	$433.50 


Write an exponential function that models the value, V, in dollars, of the television after t years of being owned. 
[image: image15.png]23. The first four terms in a geometric sequence are shown below.
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What is the next term in the sequence?




[image: image16.png]24. The following tables show the values of linear, non linear, and exponential functions at various values of x
Tndicate which function type corresponds 1 each table.

A B c )
x y x y x y x y
il 6 1 2 1 6 1 56
2 9 2 4|2 9 2 28
3 12 |3 28 |3 14 3 14
4 15 |4 56 |4 21 4 7





[image: image17.png]25, Tom is doing an experiment adding golf balls 0 a glass jar containing water. The picture and the table:
show what happens 1o the height of the water as Tom 2dds golf balls.

Below the picture and table are a set of tles. Use the tles to correctly fill in the blanks in the sentences and.
the equation below based on the results of Tom's experiment.
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[image: image18.png]The helght of the water changes at an average rate of about |  (8) | centimeters
per golf ball. If these data were graphed with the number of golf balls as the independent

variable, the y-intercept fo the graph would be about | ®) | centimeters. This

means that forzero | (€) | ne| (@) 159 centimeters.
Tom's table and graph can be represented by the trend line with the equation

y= © x+| (D s




[image: image19.png]26. The table below shows the values of 2 and 2x° + 1 for some whole number values of x:
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‘2. The numbers in the third column (values of 2x° + 1) are all larger than the mumbers in the second cohumn
(values of 2%. Does this remain true f the table is extended to include whole mumber values up to ten?

. Explain how you know that the values of 2% will eventualy exceed those of polynomial 22° + 1. Whatis
the smallest whole number value of  for which this happens?




[image: image20.png]277, The population of a country is initially 2 million people and is increasing at 4% per year. The country's
‘annual food supply i initially adequate for 4 million people and is increasing at  constant rae adequate for
an additional 0.5 million people per year.

2 Based on these assumptions, in approximately what ear will this country first experience shortages of
food?

. If the country doubled it initial food supply 2nd maintained a constant rate of increase in the supply
adequate for an additional 0.5 million people per year, would shortages sill occur? In approximately which
‘year?

. If the country doubled the rate at which s food supply increases,in addition to doubling tsinitial food
supply, would shortages stll occur?




[image: image21.png]28. A certain business keeps a database of information about its customers.
(@) Let Ce the rule which assigns o cach customer shown in the table his or her phone mumber. Is Ca
‘Function? Explain your reasoning.

Customer Name| Home Phone Number|
Heather Baker | 3105100091
Mike London 3105200256
Sue Green 3234132598
Bruce Swift 3234132598
Michelle etz 2138061124

(b) Let P the rule which assigns to each phone number in the table above, the customer namefs) associated
with i, Is P2 function? Explain your reasoning.

(¢) Explain why a business would want to use a person's social security mumber a5 a way to identify 2
‘particular customer instead of their phone number.




[image: image22.png]29.  Match the function to its domain which it is defined.

o fx)= XTH

@) £ =g
(i) £(x) = x(x+4)

- 4
@) ) = eris

A. All real numbers
B. x#0
C. x#4

D. x# -4




30.
State the domain and range of the functions:
(a) 
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State the domain, range and whether the following are functions:
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SOLUTIONS
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